3E

YELOSHE

\/
k\\/ )\‘\—)‘&1 %

HRERELE

Hydraulic Components

HBEAR &Y

Flanges Series

A

Efficient Performance
Innovative Technology

www.yeoshehydraulic.com

Reliable Quality and
Service

YEOSHE HYDRAULICS CO.,LTD.



B AR

Flanges

Table of Contents

01 F3
03 F5
05 Fé
06 LSA
07 SHA / SHB
08 VF3 / VFé

YELOSHE

YEOSHE HYDRAULICS CO., LTD.



€

sellag ¢4 — abue|4

HIR B RAR

1
:

\‘n

o

N\

|+e— > —|
ﬁ
S
| «—m —]|
N

#41&ERABF Specification

F F=
BEUZE Model gjrf?

F3-03-A Threaded 1/2"
F3-03-W-A Threaded 3/8"

54 36 22 G25 M10x35
F3-03-B Weld 1/2"
F3-03-W-B Weld 3/8"
F3-06-A Threaded 3/4"
F3-06-W-A Threaded 1/2"

58 40 22 G30 M10x35
F3-06-B Weld 3/4"
F3-06-W-B Weld 1/2"
F3-08-A Threaded 1"

68 48 28 G35 M12x45
F3-08-B Weld 1"
F3-10-A Threaded 1-1/4"
F3-10-W-A Threaded 1"

76 56 28 G40 M12x45
F3-10-B Weld 1-1/4"
F3-10-W-B Weld 1"
F3-12-A Threaded 1-1/2"
F3-12-W-A Threaded 1-1/4"

92 65 36 G50 M16x60
F3-12-B Weld 1-1/2"
F3-12-W-B Weld 1-1/4"

www.yeoshehydraulic.com




HERE AR YEOSHE

$&ERBE Specification

= (oFidl}:s
BUZE Model o-rin§
F3-16-A Threaded 2"
F3-16-W-A Threaded 1-1/2"
100 73 36 G60 M16x60
F3-16-B Weld 2"
F3-16-W-B Weld 1-1/2"
F3-20-A Threaded 2-1/2"
F3-20-W-A Threaded 2"
128 92 42 G75 M20x75
F3-20-B Weld 2-1/2"
F3-20-W-B Weld 2"
F3-24-A Threaded 3"
M20x75
F3-24-W-A Threaded 2-1/2"
140 103 42 G85
F3-24-B Weld 3"
M22x80
F3-24-W-B Weld 2-1/2"
PA3x3 Threaded 1/2" 38.1 25 21 P22 M6x30

@

selleg ¢4 — abue|

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.



HIR B HAR

- A
|+ C =
| E |
| T/ele &
B D :
’ e ’J_E

FHI&ERBE Specification

g AU
BUZE Model g_mf?
F5-04-A Threaded 1/2"
F5-04-W-A | Threaded 3/8"
40 54 17.5 38.1 30 P22 M8x40
F5-04-B Weld 1/2"
G F5-04-W-B Weld 3/8"
F5-06-A Threaded 3/4"
48 65 22.2 47.6 30 G30 M10x45
F5-06-B Weld 3/4"
:D_"' F5-08-A Threaded 1"
a F5-08-W-A | Threaded 3/4"
[ 55 70 26.2 52.4 30 G35 M10x45
| F5-08-B Weld 1"
a F5-08-W-B Weld 3/4"
% F5-10-A Threaded 1-1/4"
=
8 F5-10-W-A | Threaded 1"
64 80 30.2 58.7 30 G40 M10x45
F5-10-B Weld 1-1/4"
F5-10-W-B Weld 1"
F5-12-A Threaded 1-1/2"
F5-12-W-A | Threaded 1-1/4"
72 94 35.7 69.9 30 G50 M12x50
F5-12-B Weld 1-1/2"
F5-12-W-B Weld 1-1/4"

www.yeoshehydraulic.com




HERERER YEOSHE

$&ERBE Specification

[} . ﬂ =
BU2E Model R~ Size g_mf?
F5-16-A Threaded 2"
F5-16-W-A | Threaded 1-1/2"
85 102 42.9 77.8 30 G65 M12x50
F5-16-B Weld 2"
F5-16-W-B Weld 1-1/2"
F5-20-A Threaded 2-1/2"
F5-20-W-A | Threaded 2"
102 114 50.8 88.9 38 G75 M12x60
F5-20-B Weld 2-1/2"
F5-20-W-B Weld 2"
F5-24-A Threaded 3"
116 135 61.9 106.4 38 G85 M16x55
F5-24-B Weld 3"
F5-28-A Threaded 3-1/2"
134 153 69.9 120.7 38 G100 M16x55
F5-28-B Weld 3-1/2"
F5-32-A Threaded 4"
150 162 77.8 130.2 38 G115 M16x55
F5-32-B Weld 4" G

salleg G4 — abue|4

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.




HIR B HAR

- A
< C =
| E |
‘1 d | ot
B D .

#H1&:RABF Specification

HUZE Model

F6-04-A 1/2" 40 54 18.24 40.5 30 P22 M8x40
F6-04-B 1/2" 40 54 18.24 40.5 30 P22 M8x40
F6-06-A 3/4" 57.5 es 23.8 50.8 30 G30 M10x45
F6-06-B 3/4" 57.5 77.5 23.8 50.8 30 G30 M10x45
G F6-08-A 1" 65 81 27.8 57.2 30 G35 M12x50
F6-08-B 1" 65 81 27.8 57.2 30 G35 M12x50
M F6-10-A 1-1/4" 72 95 31.8 66.7 30 G40 M14x50
%_J F6-10-B 1-1/4" 72 95 31.8 66.7 30 G40 M14x50
% F6-12-A 1-1/2" 90 113 36.5 79.4 38 G50 M16x55
-I|-| F6-12-B 1-1/2" 90 113 36.5 79.4 38 G50 M16x55
3 F6-16-A 2" 100 132 44.4 96.8 38 G65 M20x75
%. F6-16-B 2" 100 132 44.4 96.8 38 G65 M20x75
@ F6-20-A 2-1/2" 150 162 58.8 123.2 38 G75 M20x75
F6-20-B 2-1/2" 150 162 58.8 123.2 38 G75 M20x75

www.yeoshehydraulic.com




HIR B R AR YEOSHE

o

+— A —»
-— B —
T = Iy
- Gl -
s & (&
' B
_/

#H1&ERAEA Specification

#UZE Model g?ﬁf
LSA-15 1/2" 54 63 36 40 G25 M10
LSA-20 3/4" 58 70 40 45 G30 M10
LSA-25 1" 68 82 48 50 G35 M12
LSA-32 1-1/4" 76 92 56 63 G40 M12
LSA-40 1-1/2" 92 110 65 71 G50 M16 G
LSA-50 2" 100 125 73 85 G60 M16
LSA-65 2-1/2' 128 150 92 106 G75 M20
LSA-80 3" 140 170 103 118 G85 M20

seleg yYS — abuel4

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.




€

gHS / YHS — abue|4

HIR B RAR

#H41&ERABF Specification

N

N
\

1/

N N

HUZE Model g%f
SHA-15 1/2" 63 63 40x40 21 G25 M10
SHA-20 3/4" 68 68 45x45 21 G30 M10
SHA-25 1" 80 80 53x53 28 G35 M12
SHA-32 1-1/4" 90 90 63x63 28 G40 M12
SHA-40 1-1/2" 100 100 70x70 36 G50 M16
SHA-50 2" 112 112 80x80 36 G60 M16
SHA-65 2-1/2' 140 140 100x100 42 G75 M20
SHA-80 3" 155 155 112x112 42 G85 M22

HUZE Model
SHB-15 1/2" 63 63 40x40 21 - M10
SHB-20 3/4" 68 68 45x45 21 - M10
SHB-25 1" 80 80 53x53 28 - M12
SHB-32 1-1/4" 90 90 63x63 28 - M12
SHB-40 1-1/2" 100 100 70x70 36 - M16
SHB-50 2" 112 112 80x80 36 - M16
SHB-65 2-1/2' 140 140 100x100 42 - M20
SHB-80 3" 155 155 112x112 42 - M22

www.yeoshehydraulic.com




HIRE AR YEOSHE

s

g A
¢B

L [

F )
ok

#H1&ERBE Specification

BUZE Model | R~F  Size

VF301 1/2" 30.96 1 24.26 |38.10| 54 |17.48| 456 19 13 | 6.22 | 85 M8x25
VF302 3/4" 38.89|32.13 | 47.63| 65 |22.23 51.8 | 22 14 | 6.22 | 10.5 M10x30
VF303 1" 45.24 138.48 |52.37| 70 |26.19| 58.4 | 24 16 | 7.49 | 105 M10x35
VF304 1-1/4" 51.59 43.69 |58.72| 79 |30.18| 72.6 @ 22 16 | 7.49 | 12 M10x35
VF305 1-1/2" 61.09 | 50.80 |69.85| 94 |35.71| 82.2 | 25 16 | 7.49 | 135 M12x35 G
VF306 2" 72.24|64.74 | 77.77 | 102 |42.88 96.4 | 26 16 | 9.02 | 13.5 M12x35
VF307 2-1/2" 84.94|74.93 88,90 114 |50.80|108.2 38 19 | 9.02 | 13.5 M12x40 n
VF308 3" 102.39/90.93 |106.38/ 135 |61.93|130.6| 41 22 | 9.02 [16.75| M16x50 %_)
@
I
EERNNEORRnOnENEE -
VF601 1/2" 32.54124.64 | 40.49 18.24 | 47.2 7.24 M8x30 3
VF602 3/4" 42.06 132.51 | 50.80| 71 |23.80| 60 28 19 | 8.26 | 10.5 M10x35 _|<_|
VF603 1" 48.41|38.86|57.15| 81 |27.76| 69.9 | 33 24 |1 9.02 | 135 M12x45 @
VF604 1-1/4" 54.76 | 44.45 | 66.68 | 95 |31.75 77.2 | 38 27 | 9.78 | 145 M14x50
VF605 1-1/2" 64.2951.56 | 79.38 | 113 |36.50| 95 43 30 |12.07|16.75| M16x55
VF606 2" 80.16 |67.56 | 96.82 | 133 |44.45|113.8 52 37 [12.07| 21 M20x65
VF607 2-1/2" 108.90, 90 |123.80| 180 |58.80|150.2| 45 45 120.50| 26 M24x75
VF608 3" 132.50, 115 |152.40 215 |71.60 |198.16, 55 55 [25.50| 31 M30x90

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.




" YEOSHE

YEOSHE HYDRAULICS CO., LTD.
YEOSHE BEST CHOICE

Innovative Technology
Efficient Performance
Reliable Quality and Service

H A HEB KR MBERLAG
YEOSHE HYDRAULICS CO., LTD.
413 BB BIRER T —i685t

No.68, Wugong 1st Rd., Wufong Dist., Taichung City, Taiwan, 413
TEL : +886-4-23332339 FAX : +886-4-23333817 E-mail : yeoshe@yeoshe.com.tw

YRR Dongguan TEL @ +86-769-85965158 FAX : +86-769-81635359 E-mail : yeoshe@yeoshe.com.tw
byg¥¥=EEE Shanghai  TEL : +86-21-69785786 FAX : +86-21-69785787  E-mail : yeoshe@yeoshe.com.tw

#E44BE Distributor

www.yeoshehydraulic.com

WRtERE HENLTE
Copyright © 2016 by YEOSHE



	液壓配件-封面-油壓法蘭
	合併
	G隔頁
	G系列-轉外框

	封底.-COai

